SECTION B -~

1

LS 1O is da cerare of ke drele, PA 204 PE areangents,

AP = llom 2ré £ AOF =657 find:

(2) iFc leazih ol PR
{5 ks measwre of £ OPF

5. (2}

Fied ¢ Greseason.

i (] Fird the valze ol ¢ach pronsutral

Giveaersaa

Give reasons for yosranswes

Whyis AABC = CDE 7

GEOMETRY (COMPULSORY)

FA ard PB arelangents i the clrcts wih certre 0

%
<

Showr tal
APAG = APBO

AB a2d €D ars chords of a frde interseeting 21 P
(3) Staw that AAPC s Smilario ADPE

) Heece shaw that E_E

PD F

(¢} Now fied 3 prgctzqualio AP x FB

1€ € is the cocter-otbatbeintes showthal £ DAG = £LCBO

EB it 1ts comTos chord of ke infem cting
cireles. AR is 2 gizmeter of the smafler
gircle which s prodvend o mect e larger
cires 21 C. DA praces through £,

{2) Prove that AAEB Is similar & ACD.

By Herce orobenvise prove it £ ACD= 90°

| “io ofTIONS ExAM 1999 — SBHS

SECTIOMA  GEOMETRY  (COMPULSORY)

i | What geomelrical (2015 312 $2.g3¢0ed by 1he followirg diagrams?

| | @ | 9 C)
: ®)

{a)

2

1 01 he sentre, find thy reding in ench case. Give reasecs for your Laswes.

©

(.

{2) ® 1
Cis the mid-paint of 4B PTiss Lungent

AB= 24 m, 0C= fem Pr=24m, QP = 25am

(@ ®)

L

Given ths srgls sizes irdiaated fathe dlagram 20 thal O

is the centes findz

() £CBA (@ ZBCD
®) £LCDA (e} £B0OD
() LACD

Give masons foryor answers.

SECTIONC FUNCTIONS (CO]‘JPULSORY)
1. - Which of hast are faretians?

) ®) ©

S i r ¥
2 ol
/ x / \ e i DA
- 2 -t i il [ 1 e
Ll

241

2. A femction & detemingd by g{x) = z . Cateipte gle +1)

3. I Gy ~ax? b fed aesd b EG=12dGR=10____

S —

4 Sketsh e function ffci=X? far the domala -2 8X 5 2. Forwhal valnesobz will f {x) = 27

5, Whtch of Lt following fusctiozs woald Bave inverses?
(a) . @) <}
. ¥ .

1
€. Fird the faverse of the [olioning lorssion y=——l
x—




SECTIOND LOGARITHMS (COMPULSORY)
1. Siplile
2.7
) ezt e 1" o ﬁ—t% ) & x3*
10xy
2 S @ 47 -8 ® -
27
3. i log, 5= 0356, find:
iy Tog, 25 ®  log, S
4. For t2ck graph give tha coordizates of A, B ard €
@
A:
8
cL

5. Soler (Corectio 2 decimal faces)

5" =17

4 xSt Ta-2=(x—-2Haxt thxsOfindasb,e.

5. Show (ka1 {z-3) ard (z14) 2re both frors of
2ot - 1r-12

13 axt +bel -2 is divishle by x+1.

Yimen ax® + bx — 2 is oivided by -2, (ke remairder s 42
Wiite Goern tag equatias which corH be oted 0 finda ard b, NOTE: Ba rol sobve fora 2sd by

3. Fedtermssolx’ —xt - 30c-8=0.

SECTION¥:;  CURVESKETCHING

1. Consider the 2ems of cach of (ks given polyromial faretions and malch e2ch grach with fis
equatia,
@ yerDE -x+3) @ yeE+DE-2)
(b} =+ Dr+2¥2-x) e yrxle+D{x-2)

m

(6] ™

.

Simplity

lozfx? —4x+4 —lealx~2)

@y log(x’ —x-2)-loglr+1) 0]

@  Fsdsvahesfxil:
log, x #log, (x —~2)=log, 3

(0] Fiod Bevalaz af ot iy
log, dm-log, 3=log, (m+4)

Fizd 2 rehatioeship between 1 2zd y, rot fvvolring Iogasritbzs.

{a) bgr-bgy=lop{z+y)

. x?
oy lug(——] ~log?
y &

(3] Shom+ilog=lopt

ATTEMPT EITHER SECTION E OR SECTIONF

SECTION E

POLYNOMIALS

Px)=x? —Bx +6
Oy =72 +2xt -2-§
7 Whatis the degree of P{x) + 2(x) 3

Aclass wzs discussisg the possibl valses af m in (s paiyramil of degree 4:

.m:‘—Sx’{v-;:z’ +x-9 (

KERRY “m mastbe positve”,
PAT said “a mast b ron-zem”.

CHRIS 514 “ra mmstbe 17
KiMeaid  rooaslbean dnteger”
Wko w25 camect?

Find the emalnder when et = Tr” + 207 —x + 5 is divided by {x-1)

Ca the axes below skeich the graph of S Y
yux®—dx! ¢ dr I~
3 PR SN S SN SR DU . 23

Give e vakee fora acd b soch thal the graph of
£l2) = {az — 3z —b)* coseberamesar 15 823 toncbasthes axis 1 k=T,

O b4 s3me numbar plane brlaw skeich

®  y-x aed @  yeE-?

Fard the ceatre aad radiog of (e circle

¥ e+ pt + 8y =0, Skechihzgagh

Stasrikat 3z + dy 5= 0 satageato o circle 2 +y” =1




